Periodic Table Packet #1 Periodic Table Packet #1
Name__ (A SWENS Period Name Period

Directions: Answer the questions with the proper informaiion using your notes, book, and the Directlons: Use a Periodic table to find the information asked for below:

periodic table.
A 1. What is the atomic number of: 2. What is the Alomic mass of:
1. Deline a family. —D ver ti QL &) __L ABRA! _‘CL\Y @_QD)F*)W,M .i),M Calcium_20 Calclum MO, w.w
P _) .Tﬂ # Shore i n?.T ) _Ba%ﬁm Iron_S%, Mw 2
X i av i \ row Gold Uranium_L5%.0
2. What is a period? 2O Uranim._ 6.2 Copper Tt
. What is the symbol for the following elements. r 3. How many ns do the following have?
Calcium
a. zmu:mm_caﬂl£| b. Potassium 3 Gae !HM.[
N [ ) LA Copper. -
c. lron d. Coppar = 25
. What f i 5
at are the names of the following elements - 4. How marnv &  do the following have?
ac_carbev b.a_ chlocine Gold_ 74
iron, ..Mﬁl
c.Au___ ool d d.8r__Strontium CopperL:
U Uranium,

What period are the following elements in?

L
a. He I._-lll.lll b. Ge
c. Ab al].m.|:ll d.| >

. What group are the fallowing elements?
bea () or &

a. Sulfur nﬁ.u o :u
dFe__H

c. lodine E\._V
. Give me an atom with the following characteristics.
a. Halogen _.\\ b. Chalogen O

c. Alkali metal L =X d. Boron A\

e, Lanthanide series |Pnri|_. Alkaline Earth melal lﬁ?||

Ne

g. Transition metal JF h. Nobel gas

g

5. Does mercury have more protons and electrons than tin?

ﬂ.@ﬂw I .\n_wo L'AS w_).JWO

arcury a heavier element than tin?

Ves oy - 900,59 v S - 1% F]

7. Does pot have mora elactrons than neon?

Yes W -14 s Ne- IO

8. Does hydrogen have more electrons than Uranium?

No H-\ s U -9

8. Which has more protons, sulfur or iodine?

aC S-lb vs T -573

10. Write the symbols W _“_m names for each of these elemants:
Chiorine x Zn Fih a1l

Helium |Im\||

Copper Cw

Potassium ﬂ Iron D\
Silvar Froy P

5 ¥
Na _ nwohw?:e... Na___ o
Sn VA Mercury H ﬂ

b4
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